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Which productive deployment option is valid when you combine SAP ERP and SAP SCM
in one SAP HANA system?
 
Please choose the correct answer.
 
Response: 
 
 
A. SAP HANA AppServices 
B. Multitenant database containers 
C. Technical co-deployment 
D. SAP HANA One 
 

Answer: C

 

 

 
Which of the following recovery types is not supported for delta backups?
 
Choose the correct answer.
 
Response: 
 
 
A. Recover the database to its most recent state. 
B. Recover the database to a specific point in time. 
C. Recover the database to a specific data backup. 
 

Answer: C

 

 

 
Which components of SAP HANA Indexserver allow clients to connect and communicate
with the SAP HANA database?
 
Please choose the correct answer.
 
Response: 
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A. Request Processing and Execution Control 
B. External Interfaces 
C. Relational Engines 
D. Storage Engine and Disk Storage 
 

Answer: B

 

 

 
How can you minimize the database migration option (DMO) downtime?
 
Please choose the correct answer.
 
Response: 
 
 
A. Adjust the number of R3load processes during benchmarking and the DMO procedure. 
B. Use the benchmarking tool for a productive database migration with the DMO
procedure. 
C. Provide the measured table migration duration for table sequencing during
benchmarking. 
D. Run the benchmarking tool parallel to the DMO to automatically adjust the number of
R3load processes. 
 

Answer: A

 

 

 
You created a restricted user in the DB1 database. Which commands must you use to
convert the restricted SAP HANA user to a standard SAP HANA user?
 
There are 3 correct answers to this question.
 
Response: 
 
 
A. ALTER USER <USERNAME> ACTIVATE USER NOW 
B. ALTER USER <USERNAME> ADD REMOTE IDENTITY <USERNAME> AT
DATABASE DB1 
C. ALTER USER <USERNAME> ENABLE CLIENT CONNECT 
D. ALTER USER <USERNAME> GRANT ROLE PUBLIC 

Question No : 194

Question No : 195

SAP C_HANATEC_14 : Practice Test

83

ExamsLand provides 100% free SAP C_HANATEC_14 practice questions and answers in pdf. Instant access.



E. ALTER USER GRANT CREATE ANY ON OWN SCHEMA 
 

Answer: C,D,E

 

 

 
Reloading column tables in this way restores the database to a fully operational state more
quickly.
 
However, it does create performance overhead, and may not be necessary in
nonproductive systems, how can you deactivate the the reload feature?
 
Please choose the correct answer.
 
Response: 
 
 
A. Edit the indexserver.ini file by setting the reload_tables parameter in the sql section to
true 
B. Edit the indexserver.xml file by setting the reload_tables parameter in the sql section to
false 
C. Edit the indexserver.ini file by setting the reload_tables parameter in the sql section to
false 
D. Edit the indexserver.xml file by setting the reload_tables parameter in the sql section to
false 
 

Answer: C

 

 

 
Which are tuning methods for the database migration, using DMO of SUM?
 
There are 3 correct answers to this question.
 
Response: 
 
 
A. Adapt the number of parallel R3load processes 
B. Using the Near Zero Downtime Maintenance capabilities of SUM (NZDM) 
C. Using the table migration duration files from a previous run 
D. Performing a benchmark using the benchmarking options of SUM 
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Answer: A,C,D

 

 

 
After confirming Lock now, which actions are still possible?
 
Choose the correct answer.
 
Response: 
 
 
A. Developing via ABAP workbench (SE80) 
B. Applying SAP notes via Note Assistant (SNOTE) 
C. Creating and changing application data (e.g. VA01) and user master records SU01) 
D. Releasing and importing transport requests via the Transport Manager (SE09) and
Transport Management System (STMS) 
 

Answer: C

 

 

 
What is XS?
 
Choose the correct answer.
 
Response: 
 
 
A. A native, lightweight application server 
B. An optional engine to handle excessive data loads 
C. A data cleansing engine 
D. A user interface 
 

Answer: A

 

 

 
Which identity provider is used by default by SAP HANA extended application services,
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advanced model (XS Advanced)?
 
Please choose the correct answer.
 
Response: 
 
 
A. SAP HANA user store 
B. SAP Identity Management 
C. SAP ID service 
D. SAP Cloud Identity 
 

Answer: B

 

 

 
What are the prerequisites for querying the system view EFFECTIVE_PRIVILEGES to get
data about other users and roles granted privileges?
 
There are 2 correct answers to this question.
 
Response: 
 
 
A. CATALOG READ 
B. DATA ADMIN 
C. MONITOR ADMIN 
D. USER ADMIN 
 

Answer: A,B
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